


HOME -WORK
Q-.A bus leaves Delhi with half the number of women as men. At Meerut, 

ten men get down and five women get in. Now there are equal number of 

men and women. How many passengers boarded the bus initially at Delhi?

एक बस पुरुषों की तुलना में आधी संख्या में महिलाओ ंको लेकर हिल्ली से रवाना िोती िै। 

मेरठ में, िस पुरुष उतरते िैं और पााँच महिलाएाँ अंिर जाती िैं। अब विााँ पुरुषों और 

महिलाओ ंकी संख्या बराबर िै। प्रारंभ में हिल्ली में हकतने या्ी बस में च़े?

(a) 36 

(b) 45

(c) 15 

(d) 30





Q.1 Arrange the following words as per order in the

English dictionary.

हनम्नहलहित शब्िों को अंगे्रजी शब्िकोश में हिए गए क्रम के

अनुसार हलिें

1. REPIECE

2. REPEAL

3. REPLACE

4. REPOINT

5. REPAIR

A 4, 3, 1, 2, 5 B 5, 2, 1, 3, 4

C 5, 2, 1, 4, 3 D 2, 1, 3, 4, 5



Q.2 Directions: In question, select the related word/letters/number

from the given alternatives.

हनिेश : प्रश्न संख्या, में हिए गए हवकल्पों में से सम्बहधधत शब्ि/अक्षरों/संख्या को

चुहनए।

175 : 13 : : 108 : ?

A 9 B 6

C 7 D 8



Q.3 If TYPEWRITER is written as YGRAVPCRGP and REGISTERED is

written as UKIGTBCPCR in the same code CONVENTION is coded as:

यहि TYPEWRITER को YGRAVPCRGP हलिा जाता िै, और REGISTERED को

UKIGTBCPCR हलिा जाता िै, तो उसी कोड मे CONVENTION को हलिा जाएगा

(a) GXPQELMFRL (b) GYPQELMGRL

(c) GXPQELMGRL (d) GXPRELMGRL



Q.4 There are 17 girls in a row. The position of the girl at the

middle is 9th from the beginning. What will be the position of the

girl at the middle from the end?

एक पंहि में 17 लड़हकयााँ िैं। वि लड़की जो मध् य में िै उसका स् थान प्रारंभ 9 वां

िै। वि लड़की जो मध् य में िै, उसका स् थान अंत से क् या िोगा?

A) 7 वां B) 9 वां

C) 8 वां D) 10 वां



Q.5 A square of paper has been folded and punched as shown in the 

following series of figures. How will it appear when opened? 

कागज की एक वगााकार पधना मोड़कर, नीचे प्रिहशात आकृहतयों के अनुसार छेिा 

गया िै। वि िोलने पर कैसा हििेगा?



Q.6 कथन:/ Statements :

सभी ट्रामें प्रामें िैं।/ All trams are prams.

कोर्ा प्राम सवारी निीं ले जा सकती।/ No pram can carry passengers.

हनष्कषा:/ Conclusions :

I. कोर्ा ट्राम सवारी निीं ले जा सकती।/ No tram can carry passengers.

II. कुछ ट्रामें सवारी निीं ले जा सकती।/ Some trams cannot carry passengers.

A केवल हनष्कषा I हनकलता िै/ Only conclusion I follows

B केवल हनष्कषा II हनकलता िै/ Only conclusion II follows

C हनष्कषा I और II हनकलते िैं/ Both the conclusions I and II follow

D न तो हनष्कषा I और न िी II हनकलता िै/ Either conclusion I or II 



Q.7 In a row of people Manu is 7th from bottom end of row. Shrey is 10

ranks above Manu. If Shrey is 8th from top end, then how many people

are there in this row?

लोगो की एक पंहि में मनु नीचे के छोर से 7वे स्थान पर िै। शे्रय, मनु से 10 स्थान ऊपर

िै। यहि शे्रय ऊपर के छोर से 8वे स्थान पर िै, तो र्स पंहि में हकतने लोग िै?

A) 25 B) 26

C) 24 D) 23



Q.8 In the following question, select the related letters / number

from the given alternatives

हनम्नहलहित प्रश्न में हिए गये हवकल्पों में से संबंहधत अक्षर/संख्या को चुहनए।.

FEAR : 900 : : ACE : ?

(a) 139 (b) 64

(c) 81 (d) 600



Q.9 Three positions of a cube are shown below. What will come

opposite to face containing ‘N’?

नीचे एक घन की तीन अवस्थाएाँ िशाायी गयी िै| अंक ‘N’ के हवपरीत फलक

पर कौन सा अंक आयेगा?

A) P B) Q

C) S D) R



Q.10 Medha moves towards South-East for 7 km, then moves

towards West for 14 km. Then she moves towards North-West for

7 km and finally moves a distance of 4 km East and stands there.

How far is the starting point from where she stands now ?

मेध िहक्षण-पूवा की ओर 7 हकमी चली, हफर पहिम की ओर 14 हकमी चली।

हफर वि उत्तर-पहिम की ओर मुड़कर 7 हकमी चली और अधत में पूवा की ओर 4

हकमी की िूरी तय की और विााँ िड़ी िो गर्ा। अब वि जिााँ िड़ी िै विााँ से

प्रारहम्भक स्थान हकतना िूर िै ?

A 10 km B 3 km

C 4 km D 7 km



Q.11 Poonam told Akshay that "Yesterday she defeated Akshay's only

sister's daughter Sneha in a school level Taekwondo competition." How

is Akshay related to Sneha?

पूनम, अक्षय से किती िै हक, "कल उसने अक्षय की र्कलौती बिन की पु्ी स्नेिा को

हवद्यालय स्तर के तायक्वोंडो प्रहतयोहगता में िराया था।" अक्षय, स्नेिा से हकस प्रकार

संबंहधत िै?

A) िािा B) हपता

C) ममेंरा भाई D) मामा



Q.12 How many squares are there in the figure given below? 

िी गई आकहता में हकतने वगा िै

A 5 B 6

C 7 D 8



Q.13 DIRECTIONS: Select the answer figure in which the questions figure is 

embedded.

हनिेश: वि उत् तर आकृहत ज्ञात कीहजए हजसमें प्रश् न आकृहत हनहित िै?



Q.14 Find odd one out:/ बेमेल ज्ञात करें :

A एक्सेल/Excel B माउस/mouse

C डेस्कटॉप/desktop D की/key



Q.15 Which one set of letters when sequentially placed at the

gaps in the given letter series shall complete it?

अक्षरों का कौनसा समूि िाली स्थानों पर क्रमवार रिने से िी गर्ा अक्षर

शं्रिला को पूरा करेगा

a_b___aa_bc_

A abcabc B abccba

C abccbc D cdabcd



Q.16 Identify the diagram that best represents the relationship

among the classes given below:

Oil, Cooking oil, Olive oil, Kerosene

उस आकृहत को पिचाहनए, जो नीचे हिए गये वगों की बीच में संबंध को

सवाशे्रष्ठ तरीके से प्रिहशात करती िै?

तेल, िाने पकाने का तेल, जैतून का तेल, केरोसीन



Q.17 Which of the answer figure is exactly the mirror image of 

the given figure, when the mirror is held on the line AB? 

उत्तर आकृहतयों में से कौन सी आकृहत प्रश्न आकृहत का सिी प्रहतहबम्ब िोगा, 

जबहक िपाण AB रेिा पर रिा िो।



Q.18 How many such pairs of letters are there in the word

CORPORATE, each of which has as many letters in the same sequence

between the letters in the word as in the English alphabet?

शब्ि CORPORATE में अक्षरों के ऐसे हकतने युग्म िैं, हजसमें प्रत्येक के बीच में उतने

िी अक्षर िैं, हजतने हक अंगे्रजी वणामाला में िोते िैं

A कोई भी निीं/none B एक/one

C िो/two D तीन/three



Q.19 If 'x' means '+','+' mean '÷', '-' means '×' and '÷' means '-',

then 8 × 7 – 8 + 40 ÷ 2 = ?

यहि '×' का अथा '+' '+' का अथा '÷' '-' का अथा '×' तथा '÷' का अथा '-' िो,

तो 8 × 7 – 8 + 40 ÷ 2 – ?

A 1 B 8
𝟑

𝟓

C 44 D 7
𝟐

𝟓



Q.20 Which one number does not belong to the given series?

हनम्न में से कौनसी संख्या िी गई श्रृंिला से सम्बंहधत निीं िै?

11, 2, 21, 3, 32, 4, 41, 5, 51, 6

A 21 B 11

C 32 D 51



Q.21 In a certain code language, "RAINBOW" is written as "1987645"

and "SNAP" is written as "3790". How is "PIANO" written in that code

language?

एक हनहित कूट भाषा में, "RAINBOW" को "1987645" के रूप में और "SNAP"

को "3790" के रूप में कूटबद्ध हकया जाता िै। उसी कूट भाषा में "PIANO" को कैसे

हलिा जाता िै?

A. 08976 B. 08947

C. 08974 D. 08977



Q.22 Select the missing number from given responses.

हिए गए हवकल्पों में से लुप्त संख्या ज्ञात कीहजए।

A 76 B 92

C 77 D 87



Q.23 Select the correct combination of mathematical sign to replace

‘*’ signs and to balance the given equation.

हिए गए समीकरण को सतुंहलत करने िेतु ‘*’ हचह्न के हलए हवकल्पों में हिए गए

गहणत के हचह्नों के समुच्चयों में सिी समुच्चय का चुनाव कीहजए।

30 * 10 * 2 * 50 * 70 = 26 

A ×, ÷, –, + B ÷, ×, –, +

C ÷, ×, +, – D ×, ÷, +, –



Q.24 How many squares are there in the given figure?

िी गई आकृहत में हकतने वगा िैं?

(A) 6 

(B) 4 

(C) 3 

(D) 5



Q.25 How many rectangles are there in the given figure?

िी गई आकृहत में हकतने आयत िैं?

(A) 12 

(B) 9 

(C) 10 

(D) 11



Q.26. Select the wrong number in the given series. 

िी गई श्रृंिला में गलत संख्या का चयन करें।

8 10 14 16 20 22 24

(A) 16 

(B) 14 

(C) 24 

(D) 20



Q.27 Which one of the given alternatives would represent a 

meaningful ascending order of the following words?

हिए गए हवकल्पों में से कौन सा हवकल्प हनम्नहलहित शब्िों के साथाक 

आरोिी क्रम का प्रहतहनहधत्व करेगा?

1. Child/ बच्चा

2. Adult/ वयस्क

3. Infant/ हशशु

4. Boy / लड़का

5. Adolescent/ हकशोर

(A) 3, 4, 1, 2, 5 

(B) 3, 1, 4, 5, 2 

(C) 3, 4, 2, 1, 5 

(D) 3, 1, 4, 2, 5



Q.28 . Select the related word from the given alternatives.

हिए गए हवकल्पों में से संबंहधत शब्ि का चयन करें।

Production : Destruction :: Earn : ?/उत्पािन : हवनाश :: कमाना : ?

(A) Money / धन

(B) Expensive/ महगँा

(C) Expense / व्यय

(D) Income/ आय



Q.29. E, F, G and H are four labourers. E works faster than G. F 

works twice as fast as H but less fast than G. Who works slowest?

E, F, G और H चार मजिूर िैं। E, G से तेज़ काम करता िै। F, H से िोगुना तेज़ 

लेहकन G से कम तेज़ काम करता िै। सबसे धीमी गहत से कौन काम करता िै?

(A) E 

(B) F 

(C) G 

(D) H



Q.30. In a row, the position of N is 8th from the left corner and 

position of Y is 5th from the right corner. How many minimum 

students are there in a row?

एक पंहि में, N का स्थान बाए ंकोने से 8वां िैऔर Y का स्थान िाए ंकोने से 5वां

िै। कैसे एक पंहि में हकतने धयूनतम छा् िैं?

(A) 8 

(B) 11 

(C) 5 

(D) 9



Q.31 Pointing to a man, a woman said that he is the son of my 

mother's unmarried brother's father's son then find out how 

is that man related to that woman?

एक पुरुष की ओर र्शारा करते िुए एक महिला ने किा हक वि मेरी मााँ के 

अहववाहित भाई के हपता के पु् का पु् िै तो ज्ञात कीहजए हक वि पुरुष 

उस महिला से हकस प्रकार संबंहधत िै?

(A) Brother 

(B) Mother 

(C) Cousin 

(D) None of these



Q.32. Find the odd one out from the given alternatives.

हिए गए हवकल्पों में से बेजोड़ का चयन करें।

(A) UNTI 

(B) BWISK 

(C) RICHDQB 

(D) UMUI



Q.33. If 8×13 =77 and 13×48 = 217 then 17×12 = ?

यहि 8×13 =77 और 13×48 = 217 तो 17×12 = ?

(A) 291 

(B) 301 

(C) 292 

(D) 119



Q.34. Which interchange of signs will make the 

following equation correct? 

हचधिों का कौन सा आिान-प्रिान हनम्नहलहित समीकरण को 

सिी बना िेगा?

14 ÷ 14 × 8 + 4 = 42

(A) ÷ and = 

(B) + and = 

(C) × and = 

(D) + and ÷



Q.35. If H is a sign of +, Q is a sign of -, A is a sign of × and T is 

a sign of ÷ then what is the value of 14 A 10 H 42 T 2 Q 8 = ?

यहि H + का हचधि िै, Q - का हचधि िै, A × का हचधि िै और T ÷ का हचधि 

िै तो 14 A 10 H 42 T 2 Q 8 = का मान क्या िै?

(A) 153 

(B) 158 

(C) 251 

(D) 216



HOME -WORK

Q- ‘X’ and her grandfather differ in their ages by 50 years. 

After 6 years, if the sum of their ages is 152, their present 

ages are ?

'X' और उसके िािा की उम्र में 50 वषा का अंतर िै। 6 वषा बाि, यहि 

उनकी आयु का योग 152 िै, तो उनकी वतामान आयु िै?

(a) 24, 74 

(b) 26, 76

(c) 45, 95 

(d) 25, 75
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